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1. Risk averse

2

. Technical rate of substitution

|95

. Backward-bending labor supply
4. Adverse selection

5. Allocative efficiency

6. Tacit collusion

11 AR+ (40%)

1. Are dominant strategy equilibria always Nash equilibria? Are Nash equilibria always
dominant strategy equilibria?

[

. Is maximizing a firm’s profits always identical to maximizing the firm’s stock market value?

3. True or false? An explicit delineation of property rights usually eliminates the problem of
externalities.

4. What is the present value of $1000 one year from now if the interest rate is 10%? What is the
present value if the interest rate is 5%7

TI1. FE/25EE (30%)

. The production function for a firm in the business of calculator assembly is given by

q=2\/}:

bl

where g is finished calculator output and L represents hours of labor input. The firm is a

price taker for both calculators (which sell for P) and workers (which can be hired at a wage

rate of w per hour).

a) What is the supply function for assembled calculators [ g = g(P,w) ] <

b) Explain algebraically why this supply function is homogeneous of degree zero in P and w
and why profits are homogeneous of degree one in these variables.

c) Show explicitly how changes in w shift the supply curve for this firm.
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